Quii(x.y) == Qo(x) + = max{Qu(y. 2) | arc—(y.2)}

2
4 fx=yeaG
—cost(x,y) else if arc(x, y)

Qo(x,y) = {
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Quii(x.y) == Qo(x) + = max{Qu(y. 2) | arc—(y.2)}

2
4
—cost(x, y)

Qo(x,y) = {

From s, move to a or to g7
n = 0: choose a

fx=yeaG
else if arc(x,y)

Qo(s,a) = —1> Qo(s,g) = —4
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Quii(x.y) == Qo(x) + = max{Qu(y. 2) | arc—(y.2)}

2
_ 4 fx=yeaG
Qo(x.y) = { —cost(x,y) else if arc(x, y)
Qo(s,a) = —1> Qo(s,g) = —4
4 Ql(saa):—l—i-%Qo(a,b):—%
1 1 Ql(sag):—4+%Qo(g,g):—2

o

From s, move to a or to g7
n = 0: choose a
n = 1: choose a
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QnJrl(Xa )/)

2
4
—cost(x, y)

Qo(x,y) = {

1

oy

From s,
n—
n=1
n—

move to a or to g7

: choose a
: choose a
: choose g

— Qo(x,y) + = max{ Qu(y.2) | arc—(y.z2)}

fx=yeaG
else if arc(x, y)

Qo(s,a) = —1 > Qo(s,g) =
Qu(s,a) = —1+ 3Qo(a, b)
Qu(s,g)=—4+1 Qo(g g)

Qi(a, b) = —1+ 1Qo(b, s
Qi(g,8)=4+3 Q (g.8)

||\_/

@a(s, a)
02(57 g)

-1+ %Ql(a7 b)
4+ 1Qi(g.8)

—4
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